Operations Management: Technology
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CASE STUDY Automation for dishwashers Textbook p. 330

(3marks) 1 Employees may believe that the robots will replace them on the production line. Furthermore,
as robots become more sophisticated, they are likely to be taking away the more highly skilled
jobs that pay well.

(6marks) 2 Employees may support the introduction of the robots because:
= The robots may be taking away the more routine, boring jobs, leaving the workers with the
‘more interesting roles to fulfil.
= Robots can be programmed to work in difficult conditions such as high temperatures or
handling heavy loads. Using robots may improve health and safety for the employees.
= The greater profitability of the business should enable it to pay higher wages to its workforce.
‘The employees may benefit from greater job security if the business is more profitable.

(16marks) 3 The following advantages might be highlighted:
= Improved quality will be a great help to Bosch, as this is one of its unique selling points. The
high quality will enable it to offer guarantees for 10 or more years without fear of excessive
compensation to customers whose dishwashers have deteriorated before the guarantee ends.
= The gentler handling of components and the consequent elimination of waste, along with the
greater productivity achieved, will reduce the cost of making the dishwashers. This wil allow
Bosch either to charge a more competitive price o to increase its profit margin.
= Greater reliability and flexibility will enable Bosch to meet sudden increases in demand for its
dishwashers, if necessary.
= Bosch will be able to fulfil its obligations to its employees by improving their working
conditions.
Evaluation
Which of these benefits is/are the major advantage(s) will depend on the aims of Bosch. As an organ-
isation with a reputation for quality, it is probable that Bosch will see improved quality as the main
benefit, although higher productivity will boost its profitability in a more clear-cut way.
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PRACTICEEXERC]sE

! Whatis meant by the tem echnology? (3 maris)
2 Whatis meant by the term informaion communication technology’? (3marks)
3 Whatdo the iniils EPOS stand for> (2marks)
4 Distinguish between CAD and caw, (4marks)
 1denciy dhree way in whichrobors can beused n abusiness. (3marks)

6 Analyse two advantages to a reailer of using technology inis stock contro,
7 Analyse two b of technology o car manufacturer.
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case sTuDY Automation for dishwashers

Dishwashers are ot only replacing people in the
Kitchen, they are also replacing them on the production
line.

Bosch Siemens i a business that manufactures high-
quality dishwashers, aiming its products at customers
whovalue qualiy, reliability and durabiliy above price
competiiveness. One ofts unique seling points is tha
itoffers guarantees for 10 or more years on some of its
dishwashers.

“The company reles increasingly on automation for
the manufacture of its dishwashers. It faced
particular problem of trying to install pads to deaden
the sound ofthe dishwasher. The solution involved four
robots working together as two pairs. One of the
robots picks up the dishwasher unit while the second
robot appliesthe pad to the rear panel Unlike preious
systems, each robot can work with 100% precision, if
necessary adjusting the position of ts gripper before
attaching the pad 10 the dishwasher.

“The production pracess requires the robots to bend
at an angle of 90°, a movement that caused great
discomforcto production line workers before the robots
were introduced. Further discomfort had been caused
by the high temperatures involved in the process.

“The robots are also programmed o pick up any

defects in materials or in the dishwasher, ensuring 2

high-qualit inished product.
Bosch Siemens has reaped a number of benefits

from the introduction of the robors:

u gentler handling of the components, which
climinates waste

w greater reliabilcy i the accuracy of the process

= improved qualiy in the final product

' greater productiity, achieved most significantly by
che 100% availabilty o the robots — this contrasts
sharply with the limited hours of availabilty of the
workforce

u improved working conditions for employees — in
addition to coping with the high temperatures, an
individual employee previously had to lf, without
any mechanical aids, materials with a cumulative
weight of 7 tones per shift

Iewas necessary for employees working wich the robots

to undergo suitable training. However, Bosch Siemens

believes that the high cost of introducing the new.

technology willbe recovered as a result of greater prof-

icability within 2 years,

Source wanwbara.org ok

Questions

Total: 25 marks (30 minutes)

1 Outline one reason why employees may oppose the ntroduction of robots on Bosch Siemens’

dishwasher produccion line.

2 Explain two reasons why employees may support the introduction of the robors.

(3 marks)
(6mart)

3 Bosch Siemens dentified a number of benefits o che business arising from the introduction

of the robots. Evaluate the major advantages to Bosch Siemens of introducing these robors.

(16 marks)
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PRACTICE EXERCISE Textbook p. 329

1 In business, technology describes the applications of practical, mechanical, electrical and related
sciences to industry and commerce.

2 Information communication technology (ICT) is the acquisition, processing, storage and dissem-
ination of vocal, pictorial, textual and numerical information by a microelectronics-based
combination of computing and telecommunications.

3 EPOS stands for electronic point of sale.

4w CAD is computer-aided design — the use of computers to improve the design of products.
= CAM is computer-aided manufacture — the use of computers to undertake activities such as
planning, operating and controlling production.

5 Robots can be used for: handling operations, welding, assembling, packaging, measuring,
inspecting, hazardous applications.
6 Advantages to a retailer of using technology in stock control include:
= Computer programs linked to statistics on patterns of consumer purchases enable a firm to
anticipate changes in stock levels more accurately and thus reduce the possibility of running
out of stock or building up unnecessarily high levels.
= Reordering becomes much easier, as retailers can link their tills to stock control systems.
‘These systems automatically contact the supplier when the reorder level is reached.
= Organisations with many branches can use IT to locate stock and, if necessary, switch stock
from one branch to another, according to consumer needs.

|7 Beneits of technology to a car manufacturer include:

= Ideas for products and processes can be created and compared more quickly using technology,
and ideas can be simulated through computer programs, saving considerable sums of money
by eliminating the need to produce and test prototypes.

= The use of fully automated production lines that are controlled by computers increases
productivity and flexibility. It also reduces the risk of human error. Greater miniaturisation in
production allows very small components to be manufactured that could not be made by
humans.

= The intemet can benefit a car manufacturer by reducing the need for staff and expensive
premises. Potential customers can access details of cars through the internet and place their
orders directly, thus saving the expense of having a large sales force.

= The internet allows access 24 hours a day, and credit card payments can be made
immediately. This enables the car manufacturer to make its products available at times that
suit the customer.

8 Use of IT might create the following difficulties:

= It can lead to job losses for workers, particularly those in traditional skilled crafts. This causes
stress and can lead to demoralisation and demotivation of workers. Even those workers whose
jobs are not immediately threatened will be affected by the fates of their colleagues and, as a
consequence, productivity may fall

= It s expensive to introduce. Firms must consider whether to spend money continually on IT
in order to keep up to date, or allow the business to fall behind competitors, but save on IT
costs.

= The constantly changing nature of IT means that there is a continual need to replace hardware
and software. Continuous training for staff is also needed and adds to costs. The efficiency of
‘businesses that are unable to keep pace is under threat.





